EEN ®
ﬁ . =0 Addition von Briichen (gleicher Nenner)

Name: Datum: Ergebnis:
1 5 7 3
_+ = — 4+ - =
8 8 6 6
4 1 I 1
4= 1=+~ =
77 3 3
6 6 7 4
77 5 5
6 2 5 5
7 7 6 6
4 4 4 5
9 9 7 7
1 4 5 1
9 9 2 2
6 1 2 2
— 4+ - = — 4+ - =
9 9 4 4
4 3 6 5
-+ = — 4+ - =
9 9 77
2 7 6 7
12+~ = 2+ l=
3 3 5 5
3 | 1 7
Z4l-= 4=
4 4 6 6
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Addition von Briichen (gleicher Nenner)

Name: Datum: Ergebnis:
1 5 3 7 3 5 2
_y2=2 _4Z=-1Z
8 8 4 6 6 3 3
4 1 5 1 1 5 2
o= l—+-=2=1=
7 7 3 3 3 3
6 6 12 5 7 4 11 1
4 o= =12 o= — =)o
77 7 7 5 5 5 5
6 2 8 1 5 5 5 2
S4+IZ=2=1= S+Z=2-12
7 7 7 7 6 6 3 3
4 4 8 4 5 9 2
= —_+2=2=1Z2
9 9 9 7 7 7
1 4 5 5 1

4o == 4o =3

9 9 9 2 2

6 1 7 2 2
2ro=2 R

9 9 9 4 4

4 3 7 6 5 11 4
_y2=2 4= —=1-
9 9 9 77 7 7
2 7 6 7 13 3
Z+-=4 S =—"=2=
13 3 5 5 5 25
3.1, 1, 7_4_ 1
4 4 6 6 3 3
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